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Part A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see

four words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best
completes the sentence. Then mark your answer sheet.

76-

80-

81-

83-

84-

86-

87-

After breaking his leg in the skiing accident, -----———- to cut short his vacation and go
back home.

1) forced 2) he forced 3) that forced 4) he was forced
I to save the man if I knew how to swim.

1) tried 2) will try 3) would try 4) had tried

The boss would get mad if you leave early again, so --———--—- ask for his permission first.
1) you should 2) you might 3) would you 4) you are going to
--------- , I have no idea where I would like to vacation this summer.

1) I am honest 2) Be honest 3) To be honest 4) Honest I am
I what 1 would be doing now in this strange country without your kind help.

1) suppose 2) wonder 3) prefer 4) hate

He was absolutely -----———- , as he was speaking in a language with which T was anything
but familiar.

1) proud 2) skillful 3) monolingual 4) incomprchensiblc

The education offered beyond high school, especially at a college or university, is
technically known as -----—-- education.

1) higher 2) creative 3) advanced 4) intcrmediate

We cancelled our camping trip because the weatherman said the ---—----- of heavy rain
was very high.

1) variety 2) strength 3) beginning 4) likelithood

Janc was not that good at learning languagcs, so 1 was surpriscd to learn she could ——--—--
speak three foreign languages very fluently.

1) widely 2) actually 3) hopetully 4) necessarily

I am more on the side of people who --—----- health above money; 1 believe health and
happincss have a direct relationship.

1) hang 2) leave 3) value 4) identity

A: llow would you ---——---- Tim?

B: He said he’d have on a red shirt, didn’t he?

1) recognize 2) remind 3) discover 4) expect

Julie always says she'll donate to the school, and she never does, so T doubt she will this
year, -----—-—-—-—- , after all.

1) Actions specak louder than words

2) Cut your coat according to your cloth

3) God helps those who help themselves

4) Don’t count your chickens before they hatch

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide
which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

[In many companies, perhaps the best way to do certain new projects is to put a group
of people together (88) --------- . Having a team of people attack a project (89) ---------
several advantages or positive points. First of all, a group of people has a wider
(90) --------- of knowlcedge, cxpertisc, and skills than any single group (91) --------- is
likely to have. Also, because of the numbers of people involved and the greater
resources (92) --------- , a group can work morc quickly in rcsponsc to the projcct they
are to get done and can present highly creative solutions to problems and issues.
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88-

89-
90-
91-
92-

1) that a tcam is formed 2) and so forming a tcam

3) but forms a team 4) and form a team

1) offcrs 2) to offcr 3) which offcrs 4) is offcred by
1) item 2) range 3) means 4) function

1) section 2) mission 3) member 4) responsibility
1) are available 2) than they are available

3) that are available 4) which they are available

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Lach passage is followed by

four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then

mark your answer sheet.

93-

94-

95-

PASSAGE 1:

The cultural context can also influence life expectancy for men and women. (Life
expeclancy 1s the expected length of a person’s life.) For example, women generally
smoke cigarettes less than men, which has been proven to cause many health problems
and (o shorten lives.

Another factor that has influenced the lives of women is the lack of stress. Stress is
well known 1o shorten lives. Until recently, women who worked were usually in less
responsible, less stressful positions. At home, housework tends to keep women in
better physical condition than mcn. This gencrally better physical condition i1s yct
another factor in women’s longer lives.

Thesc cultural factors have played an important part for thc women who arc now
getting old. But the social habits of women are changing. Young women are smoking
more than women used to. More women are working now and holding more
responsible positions. These changes may mean that the cultural context will no longer
help women live healthier lives. However, women will continue to live longer than
men because of certain other factors.

The passage would most probably continuc with a discussion of ===—=—-,

1) why women arc no longer willing to stay homc and do houscwork

2) the reasons behind the change in different countries’ culture around the world

3) factors other than cultural factors in relation to women’s living longer than men

4) how a healthy lifestyle 1s important for both men and women in today’s ever-changing
world

It can be understood from the passage that the author considers cigarctte smoking to

1) become more common among women than it is now among men

2) have a relationship with the amount of stress in people’s lives

3) be more harmful to women than to men

4) bc a culturc-rclatcd habit

It can be understood from the passage that men can improve their physical condition by

1) doing houscwork

2) giving their jobs to women

3) working jobs with morc responsibility

4) taking better care of their health problems
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96-

97-

98-

99-

100-

Which of the following statements is TRUE, according to the passage?

1) Women in the past did not smoke because it was considered a socially negative habit.

2) The difference in life expectancy between men and women is very likely to become
smaller.

3) Women’s health problems and those of men are similar in terms of both their causes
and effects.

4) If women realize their health problems are because of their new social roles, they
would renew their past habits,

PASSAGE 2:

The advantages or positive points of e-readers certainly seem to be more than the
disadvantages. They are light and mobile devices that can be taken anywhere. Taking
onc gadget on holiday allows us to takc hundreds of novels with us without having to
pay for extra luggage on the plane.

The clectronic naturc of c-rcaders gives us so much morc than a print copy of a
book can do. Tt lets us read in the dark (handy in case of a power cut). We can look up
unfamiliar words in the in-built dictionary with just one click, we can make notes, and
we never forget what page we were on: the e-reader remembers that for us. If our
eyesight declines, we can make the letters bigger. We can re-read Jane Lyre as often
as we like and the book will never look any worse for it. And even if our taste in books
1s unusual, nobody nced know: others can’t sce what we arc rcading. Not only that,
most e-books are cheaper than their print versions, and many older books can be
downloadcd for free.

So why have only one in three of us read an e-book? The answer must be that there
1s somcthing spccial about the look, the fcel, and maybe cven the smell of printed
books. 'Real' books are objects that have a past and their physical presence surrounds
us with happy memories.

The author scems to believe that ===e=---- .

1) printed books are here to stay

2) everyone will soon be using e-books only

3) the digital world has totally changed the publishing industry
4) c-books arc difficult to usc becausc they require the usc of some cxtra digital devices
What does paragraph 2 mainly discuss?

1) The way e-books have changed people’s reading habits

2) The reason why e-books are more fun to read

3) The effects of e-books on human health

4) The advantages of e-books

The name “Jane Eyre” in paragraph 2 is most probably --------- :

1) an author’s namc 2) a book title

3) an e-reader brand 4) a text that is difficult to understand
What does the word “that” in paragraph 2 refer to?

1) making notes 2) the page we were reading

3) the reading act 4) the meaning of unknown words
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Teil A: Grammatik

Er hat Kopfweh, =-====-==- die Kinder viel Lirm gemacht haben!

1) ob 2) weil 3) umso 4) obwohl
Wie lautet der Genitiv Singular von ,,die Nacht*?

1) der Nacht 2) die Nacht 3) der Néchte 4) des Nacht
Der Satz .,,Wenn Stefan nur bessere Noten bekommen hitte!* ist ein irrealer ---------- X
1) Wunschsatz 2) Aussagesatz

3) Verglcichssatz 4) Konditionalsatz

Im Satz ,,Der Baum ist hoher als das Haus* steht das Adjektiv im ---—---——-- .

1) Elativ 2) Positiv 3) Superlativ 4) Komparativ
Das ist die I'rau, -------——-- 15-jahrige Tochter vor 15 Jahren verschwand.

1) die 2) deren 3) denen 4) dessen

In welchem Tempus steht der Satz ,,Ich habe seine Sprache nicht verstanden*?

1) Prisens 2) Futur IT 3) Perfekt 4) Priteritum
Es mir ., den Verkauf zu einem guten Abschluss zu bringen.

1) ist / gelingt 2) hat / gelingt

3) ist / gclungen 4) hat / gclungen

In welchem Kasus steht der Artikel im Ausdruck ,,in einem Mérchen*“?

1) Dativ 2) Genitiv 3) Akkusativ 4) Nominativ
Die wirtschaftliche Entwicklung in Europa ist durch --———- Olpreis gefihrdet.
1) ein hohes 2) eine hohe 3) einen hohen 4) einem hohen
Ich ====------ d¢n Bericht bis Mittwochabend beim Chef abgegeben haben.

1) darf 2) kann 3) wolle 4) muss

Teil B: Vokabeln

Wichtige Computcrdaten sollte man mit Passwortern --—-—--——-—-- .

1) fiillen 2) ndhen 3) mischen 4) schiitzen
Er ist ein vertrauenswiirdiger Mensch, fiir ihn lege ich -----—---- ins Feuer!

1) meinen Finger 2) mcinc Hand 3) mcin Herz 4) mcin Haar
Es ist --————-- , Rauschgift zu nehmen. Man kann daran sterben!

1) gesund 2) schwierig 3) gefahrlich 4) beruhigend
Welches Wort passt nicht in die Reihe?

1) Ohrring 2) Armband 3) Halskette 4) Handgriff
Die Zwillinge haben das gleiche ==-==-=--- . Beide wiegen 4 Kilo.

1) Schicksal 2) Gewicht 3) Gefiihl 4) Alter
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Teil C: Liickentext

Erginzen Sie den Text mit den richtigen Auswahlmaglichkeiten!

In Cleveland gibt es (91) ---------- . Dort wollte ein Gorillababy nicht fressen. Der
Direktor des Tiergartens ging jeden Tag in (92) ---------- Kafig und wollte dem Baby
ein (93) ---------- geben. Lr afi Obst, Niisse, gebratenes Fleisch und viele andere gute
Speisen. (94) ---------- einigen Wochen wog der Gorilla noch immer zehn Kilo zu
wenig. Aber der Dircktor! — Er (95) -----——--- funf Kilo zugenommcn.

1) einen Zoo 2) eine Messe

3) ein Museum 4) einen Garten

1) den 2) des 3) dem 4) der

1) Zettel 2) Worl 3) Beispiel 4) Geschenk

1) Um 2) Auf 3) Bei 4) Nach

1) 1st 2) war 3) hattc 4) wurdc

Teil D: Leseverstehen

Der namhafte franzdsische Schriftsteller Balzac glaubte den Charakter eines Menschen
aus seiner Schrifl lesen zu konnen. Daraul war Balzac immer sehr stolz. Eines Tages
zeigte thm eine Dame einen Brief mit sehr schlechter Schrift und bat ihn: , Bitte,
betrachten Sic dic Schrift, sagen Sic mir ctwas Uber den Charakter und dic Zukunft
dieses Menschen. Diesen Brief hat ein Junge von zwolf Jahren geschrieben.* Balzac
sagtc: ,,Zucrst stclle ich Thnen cmc Frage: Sind Sic dic Mutter dicscs Kindes?
-Nein!“, antwortete die Dame. ,,Gut!®, sagte Balzac, ,.,dann kann ich offen mit Thnen
sprcchen. Leider 1st dicses Kind faul und cigensinnig. Es wird keincen Erfolg im Leben
haben.” Die Dame lachte laut und erklirte: ,,Diesen Brief haben Sie mir geschrieben,
als Sie, Herr Balzac, zwol[ Jahre alt waren.*

Wic fiihlte sich dic Dame, als Balzac mit scincn Erklarungen fertig war? Sie war -————,
1) drgerlich 2) amiisicrt 3) geschockt 4) canttduscht

Hiitte Balzac tatsiachlich die beanspruchte Fihigkeit besessen, wiare er beim Besuch der
Dame ein ---------- Mensch gewesen.

1) citler und habgicriger 2) guter und humorvoller

3) gliicklicher und weiser 4) erfolgloser und trotziger

Dass Balzac den Charakter der Menschen aus ihrer Schrift lesen zu kénnen glaubte,
machte ihn -——————- .

1) berithmt 2) schr stolz 3) ungliicklich 4) sympathisch
Welche Feststellung iiber Balzac ist korrekt? Er war --——--—-— .

1) ein beriihmter Autor 2) ein arroganter Mensch

3) hauptberuflich ein Jurist 4) mit 12 ein grofler Mathematiker
Eincr der folgenden Ausdriicke ist die cigentliche Uberschrift des Textes. Welcher?
1) Decr Vorleser 2) Dcr Kochmeister

3) Der Autohédndler 4) Der Schriftkenner
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Partie A: Grammaire
Complétez les phrases suivantes cn cochant la réponse correcte:

Pierre a épousé --—--—-—-—-—-—- femme qui est plus dgée que lui.

1)la 2) dc 3) unc 4)dcla

Que —————m—mmun cette histoire?

1) signifie 2) signifit 3) signifi 4) signifier
Jacques travaille pour des sociétés -------—---- .

1) multinational 2) multinationale 3) multinationaux  4) multinationales
Jc¢ sais pourquoi tu as mal a I'cstomac tu as mang¢ ------------ de chocolat.

1) tres 2) trop 3) tant 4) assez

Comme clle ---------- payer les impéts cc mois - ci, il nc lui reste plus beaucoup d'argent.
1)add 2) doit 3) dcvait 4) avait da

Je me suis adressé a ------------ homme qui a été trés impoli avec moi.

1) ce 2) cet 3) ces 4) celle

Elle porte un pantalon ----—--——-——- je n'aime pas la couleur.

1) ou 2) que 3) qui 4) dont

Pierre -----——---- faire la randonnée s'il était plus sportif.

1) va 2)1ra 3) 1rait 4) allait

Cette piéce, elles I'ont déja -----—---—--—- plusieurs fois.

1) vu 2) vus 3) vue 4) vues

Il est siir que tu ——-——-———-- le francais plus vite cn pratiquant tous les jours.

1) appris 2) apprends 3) apprennes 4) apprendras

Partie B: Vocabulaire
Complétez les phrases suivantes en cochant la réponse correcte:

Alain va tous les jours au club de gym pour avoir des -----—------ forts.

1) foies 2) nerfs 3) muscles 4) poumons

Le -—-—--—--—-- est le roi des animaux. Trés criant, il ne fait presque rien de sa journée.

1) lion 2) loup 3) renard 4) I¢opard

A cause de la neige abondante sur la route, il y a eu malheureusement plusieurs accidents
1) lourds 2) graves 3) violents 4) sauvages

11 a obtenu tout ce qu'il désirait : il a cu unc chanee ====-==----- .

1) possible 2) probable 3) imaginable 4) invraisemblable
Son grand-pcre a I'habitudc de se reposer a 'ombre ----——---- dec I'arbre pre¢s du bassin.
1) du tronc 2) dcs racincs 3) du feuillage 4) dcs branchces

Partie C: Texte a Compléter

Il est vrai qu'elle soullrait de myopie, tout le monde lui (91) ---------- de porter des
lunettes. Mais les conseilleurs ne sont pas les payeurs. Cet (92) ---------- a son avis,
convcenait mal aux (93) ---------- dcs champs. Ellc avait I'habitude (94) ---------- voir Ic
monde éloigné derriere une brume 1égere. Dans la ville de Murat, elle se cognait un
peu aux (95) ---------- .

Mais de pres, elle distinguait les plus menus détails, elle enfilait ses aiguilles, elle
retrouvait les épingles dans les rainures des planches, on l'appelait pour se débarrasser
d'une épine.



VY axano 131-A danil 48 L)

91-
92-
93-
94-
9S-

96-

97-

98-

99-

100-

1) conscillait 2) ordonnait 3) réclamait 4) cxigcait

1) décoration 2) accessoire 3) ornament 4) garniture
1) ouvricrs 2) cmploycs 3) pcrsonncls 4) travaillcurs
1)a 2) de 3)en 4) par

1) piétons 2) peuples 3) passants 4) passagers

Partie D: Compréhension de Texte
Lisez le texte suivant et répondez aux questions:

Le 'Petit Nicolas' a paru pour la premiére fois dans un journal, le 'Sud-Ouest
Dimanche'; ¢'était le 29 mars 1959. Celtle toute premicre histoire portait comme litre
"L'eeuf de Paques", les dessins de Sempé étaient encore en noir et blanc. Nicolas est un
petit gar¢on en culottes courtes, chemise blanche, et pull et cravate rouges. Il est
entouré de ses parents, de ses professeurs et surtout de son chouette tas de copains .En
six ans, lcscénariste Ren¢ Goscinny ct Ic dessinateur Scmpé Goscinny Ctait un
excellent €léve. Sempé, lui, était moins sérieux: il aimait plutdt bavarder et s'amuser en
classc. Enscmblc, ils ont racont¢ Ic mondc dcs cnfants avee Icurs réves, lcurs pctites
coléres, leurs amitiés, leurs petits problémes de tous les jours...

Dcs histoires de tous lcs jours dans Icsquclles tout Ic mondc peut sc rcconnaitre, car
les aventures du 'Petit Nicolas' ont été traduites dans une trentaine de langues. Et avec
grand succes! Anne Goscinny, la [ille de René Goscinny, disparu en 1977, a trouvé
d'autres histoires dans les archives de son pere. Elle les a publiées en 2004 et 2006.
Depuis, plus d'un million d'exemplaires ont déja été vendus. Les parents les ont
achetés a leurs enfants pour leur faire partager leurs souvenirs et le 'Petit Nicolas' a
ainsi trouve un deuxicme public.

Le texte ci- dessus a comme objectif ---—--—-—-,

1) d'informer le public. 2) d'argumenter une idée

3) de critiquer la vie de Nicolas 4) de décrire une sceéne de la vie de Nicolas
Le Petit Nicolas est un garcon ------—------ .

1) social 2) violent 3) surdou¢ 4) coléreux

Des histoires de Petit Nicolas ont paru, pour la premiére fois , dans le journal --—--—---—---- .
1) Pilote 2) le Figaro

3) le Parisien 4) le Sud-Ouest Dimanche

Le Petit Nicolas est traduit dans -——---—-- langues

1) 200 2) une cinquantaine de

3) une dizaine de 4) une trentaine de langues

Le Petit Nicolas a trouvé un deuxi¢me public par ------—--- .

1) la publication des histoires des archives
2) la disparition dc Goscinny ¢t Semp¢

3) la féte de sa nouvelle publication

4) l'exposition gratuite des ceuvres
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A. BbiGepuTe MpaBW/IbHBINM BAPDHAHT OTBeTA:

Ha 3aceqanun CoBera ¢ KpaTKMM cOO0IIIEHAEM ---------- CvupHoBa.

1) BeICTyTITT 2) BBHICTYIIIIIH 3) BBICTyTIHIA 4) BBICTYyIIAN
MHc, noxanayicra, ---------- MOPOKCHHOC.

1) moxkomamioi 2) ToKoNaAIIoe 3) mokonamias 4) mokonaninie
Mapra, -———-—-—-- TO MUChMa?

1) ups 2) UbC 3) ucit 4) upu

Kak 30ByT cTyneHTa, ——=------- Mbl BCTPETH.IU B My3ee?

1) koToporo 2) KoTopas 3) KoTOpyIO 4) koTopbIe

A pucyiw —-—-—-——- .

1) kaparnamiam 2) Kapamgantu 3) kaparrgaamMu 4) xapannanreii
Mbl - 3a MUP.

1) BCIO 2) Bce 3) BCsi 4) Becn

OH cTpenser -----—--—-—- .

1) nTuiy 2) B IITHIIC 3) Ha ITHUIIC 4) B nTHIly
CbIH MATIET ---------= TACHMO.

1) otetr 2) oty 3) oTma 4) oTiIOM
Kaxne1ii AcHb OH ——--———— Ha palorTy.

1) xogut 2) XOIUTL 3) uatu 4) uner

ST npounTaj CTaTHIO, ---—------- THI TOROPWJI MHC.

1) ¢ xoTopoii 2) KOTOpYIO 3) xoTopas 4) o KoTOpoOi
Mou poaUTeH 04eHb Padbl, YTO =-=----n-== XOpOWIO ¢AaJl BCE IK3aMEHbI.

1) mHOM 2) MHe 3) s 4) meHs

OJ1er KIET===mmmmm== .

1) cBoum npy3pam 2) cBoux Apy3ei

3) cBouMM ApY3biMH 4) com Apy3bsi

Most mama padoraer ---------- 5

1) B HOROW 11IKON€  2) HOBas IIKONA 3) HOBRO¥ HIKOJIbI 4) B HORYHO IIKOJTY
B 6ubimorexe ner ---------- .

1) aTa k1IMITA 2) BTy KITUTY 3) HTOii K1IMTe 4) 3T0i KITUTH
Ccronnsi Ha cTajuoHc O0y/icT MaTyd. J[py3bs MoHAyT --—---—--—- B S yacog.

1) ryna 2) ram 3) 3uechb 4) orryua
Uccaenosanne, —--—--—-—- ACTTMPAHTOM, /IAJI0 XOpOIIie pe3yahbTaThI.

1) npoeeanii 2) npoeALIUMm 3) npoeeacHHOE 4) NpoOBEACHHBIM
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b. lonosiHure Teker, HCHOJIb3YH 110/IX0/IHIIEE 110 CMBICIY C.I0BO.

Ha ypoxe cTpaHoBeneHus mpenojaBaTelb pacckazald HaM (92) ---------- . M&I y3Hanu,
4r0 UEPBLIM KOCMOHABTOM 3emumn Obut FOpuii [arapus. Ilonér, (93) ----------
corepinmn FOpwit Tarapun (94) ---------- anpens 1961 roja, (95) ---------- 108
(96) -------—-- .

1) 0 nepBOM KOCMOHABTE 3eM.11 2) nepBbIM KOCMOHABTOM 3eMJIH

3) IcpBOMYy KOCMOHABTY 3CMIIH 4) ICpBOTO KOCMOHABTA 3CMIIH

1) xoToporo 2) xoTopas 3) KOTOPBIM 4) KOTOPBIM

1) uBeHauuaroe 2) ABEHAALATBIM 3) uBeHa uaroro 4) B JIBEHAULATOC

1) npoomxan 2) mpoIoSKaANIC 3) 3aKOHYUI 4) 3aKOHYUICS

1) munyTa 2) MUHYTBI 3) MUHYTY 4) MUHYT

B. HpO‘II/ITﬂﬁTe TERCT U BLINMOJIIUTE 3aallUd TMOCJIE TIEro:

VY KOCMOHEBTOB 2 A0MAa: OJUH Ha 3CMIIC, APYroil — B KocMoce. OUH IPOYHO CTOUT Ha
3emJie, a Apyroi Haa Hew Jeraet. KocMuueckuii 10M 0COOEHHbIN. 3A6Ch KOCMOHABTBI
KUBYT U pabOTATOT TIECKOILKO MecsIeB M MPUITIMAIOT TOCTell.

B nome Heckombko «koMHaT». CHauana «IIpuxoxkas». B «arpuxoxeiny 2 IBepH-TOKa.
Omia BeaéT «11a yauIy», B KOCMOC, a ApyTrast — B KHIIbIe «KOMIIAaTL». B «1puxoxeii»
XpaHATCcA cKadaHAphl KOCMOHaBTOB M BCE TO, YTO HEOOXOAMMO KOCMOHABTAM IS
«IIPOryJloK» B KOCMOCC. BTopasd «koMHaTa» camas 0ojbiias. 34CCh KOCMOHABTbI
pabotaroT. TyT cTOAT cTOJIBl. Han KaxasIM cTonoM — paguorenedon. C ero moMomiso
KOCMOHABT IICPCroBapuBacTcsi ¢ 3cMICH M ¢ TOBApUIIAMH, KOTOPBIC HAXOMSTCA,
HafmpuMep, B ApyromM kopadne. Y TpeTbeil KOMHATLI MHOIO Ha3HAYCHUH.

ITO «CTaaMoI», TOTOMY HTO 3[eCh KOCMOIIABTLI TPETHpYIOTcs: Oeralor, e3adaT 1a
BENOCUNIEAE. DTO — «KYXHS», [JI€ XPaHATCS MPOAYKThbI, BOAA, NME OHM rOTOBAT ce0e
eay. A BOT chOAT KOCMOIIABTLI B CHENHMAILIILIX MeIKaX, KOTOpPLIE MPUCTETHBAIOT
CIlenMallbHRIMA PEMHAMH K cTeHaM. B KocMHM4YecKkuii TOM KOCMOHABTHI €314T Ha
«Takcw». Tak OIMM 11a3LIBAIOT TPAICHOPTIILIM Kopadbnn. Korga «Takcn» mozineraer K
CTAHIIMH, OHO CTAHOBUTCS Ha CTOSHKY U MPUCOEIMHAETCS K CTaHITHH.

B «npuxoskeil» HAXOAATCH ---——--—— X

1) ckaganapel 2) HPOLYKTbI 3) siekapcrsa 4) croJibl
Kocmonags bl o6marorcs ¢ 3emuéii ¢ n1oMoupo ------—-- .

1) ckaiina 2) nucem 3) «Taxcu» 4) papuotenedona
KoCMOHABTEI CISAT ===nm=nm== .

1) B «mpuxo:xeii» Ha IOy 2) B cmaibHE Ha KPOBATH

3) B cricuaIbHBIX MCIIKAX 4) Ha «TaKCI»

B KOCMMUYECKHIT JIOM KOCMOHABTORB BE3¢T ————————— .

1) aBTOMOOMB 2) TpaHCMOPTHbII KOpaldab

3) camo:tér 4) ey TIIMK
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Capitolo A: Indicate la risposta corretta:

Marco e’ un ragazzo italiano che viene ---------- Napoli.
1) da 2) in 3) per

Mi sento stanco e non ho ---—------- di studiare.

1) libro 2) parola 3) voglia
---------- giorno io lavoravo in un supermercato.

)a 2) di 3) per

Ho abitato a Roma ---—---—--—-- dieci anni.

1) in 2) da 3) con

Chi esercita professionalmente la medicina ¢ ---—------- .
1) medico 2) dottore 3) cantante

4) nella

4) giornale
4) peril

4) per

4) insegnante

L'ampio componimento narrativo in cui si tratta delle vicende di uno o piu” personaggi ¢

1) storia 2) novella 3) romanzo
Tu conosci Maria ¢ Marta? Si, -—————-- conosco bene.

1) Lli 2) le 3) gl

E’ importante che voi ---------- a casa.

1) veniate 2) veniste 3) vengano
L.oro insistono che voi -—-------- da noi.

1) rimanini 2) rimanete 3) rimaniale
Lei mangia --——-— lui studi.

1) mentre 2) dopo che 3) quando che
Mario, conosci qualcuno che ---—------ I'italiano?

1) sa 2) sappi 3) sappia
Erano le dieci e la banca --—---—-——-- ancora chiusa.

1) fui 2) era 3) fu

Chi ci regala dci fiori? To ---——--- regalo.

1) veli 2)celi 3) velo

| A —— viaggiare ---------- rimanere a casa.

1) piu'-che 2) piu -tanto 3) tanto-piu’
Avrei studiato ma ---—---—-—-- i libri a ascuola.

1) lascio 2) lascierei 3) ho lasciato

4) commedia
4) loro

4) venite

4) rimanino
4) prima che
4) sappiate
4)e’

4)vele

4) tanto-chc

4) avessi lasciato
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Capitolo B: Completate il seguente testo con le parole proposte:

Oggi tutti vanno (91) ---------- cincma- s¢ non stanno a casa a guardarc la tclcvisionc.
Ma e’ abbastanza facile trovare qualche denaro per andare al cinema, mentre €* spesso
un problema difficilc (92) ---------- insicme 1l denaro per comprarc un tclevisore. In
Ttalia, d'estate ci sono molti (93) ---------- all'aperto. Quando fa molto caldo ¢ bello
starc in un giardino ¢ godcrc un bel film. Tutta la famiglia va insicmc ¢ qualche volta
porta (94) -—---—----- il cane. Pino e Franco sono due amici che discutono sul programma
della sera. Franco ha voglia di [are una passeggiata ma Pino ha molto lavoro in ufficio
In questt giorni e la sera e’ proprio stanco. Non ha neanche (95) ---------- di mangiare
quando torna a casa.

I)a 2)al 3) per 4) ncl

1) vendere 2) portare 3) prendere 4) mettere
1) cincma 2) cincme 3) cincmai 4) cincmci
1) fino 2) perfino 3) malgrado 4) neanche
1) fame 2) voglia 3) desidera 4) ha volute

Capitolo C: Leggete il testo e rispondete alle domande seguenti:

C'cra una volta una povera donna che ando™ nel bosco a prendere Icgna per 1l fuoco.
Mentre tornava a casa, trovo un gatto ammalato che gemeva e che piangeva. La
donna avcva buon cuorce, ¢, picna di compassione, porto” il gatto a casa. Per la strada
incontro” due bambini che domandarono: 'Che cosa hai? O, ¢ un gatto! Possiamo
giocarc con il gatto?' Ma la donna volcva proteggere 'animale ammalato ¢ non lo
lascio® ai bambini. Quando arrivo™ a casa, preparo’ un letto per il gatto € porto’ un po'
di latte. 11 gatto fini il latte € dormi fino alla mattina dopo. Poi spari, e non torno’ piu’
in quclla casa. Qualche tcmpo dopo questo fatto, la donna ando™ di nuovo per prendere
un po' di legna e trovo' nello stesso posto, invece del gatto, una bella ragazzina. La
bclla ragazzina getto™ un sacco di moncte d'oro nclla mano dclla donna c poi spari.

La donna andava nel bosco per raccogliere -----——--,

1) 1ramu 2) 1 fiori 3) Ic foglic 4) lc pictre

La povera donna trovo’ un gatto che ---------- .

1) rideva 2) parlava 3) guardava 4) si lamentava
L.a povera non ha dato il gatto a bambini perché voleva ----—--—- .

1) comprarlo 2) prenderlo 3) difenderlo 4) venderlo
Alla casa della donna il gatto ha bevuto --—-----—- .

1) il te’ 2) l'acqua 3) il sciroppo 4) il latte

Offrendo le monete d'oro alla donna, la ragazzina ha dimeostarto ----—------ .
1) la sua virtu’ 2) la sua bellezza  3) la sua bravura 4) la sua gratitudine
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